$£6 3OERAF/\IROB « OGEIIIEE IIUNTHRS
BIRAF/\DROB « OGEIILIE=A
Co KE S
6 3OBIFRAF/\DROB « OGERIIIBRIUNIL, BIS5FE1 1888 0K ICHBRINED TKERANY
FU—=035T #3-X] TI36BDOSNOEERENZLE UL, 1188 TUEHXRIRICEINFHETO
TU—DADIBAZNDETY, SONSNEIL. AR BRSA. T ESAR2BDH U{PRICRDF UL,
£6 3ONEHEL. Nk R—AN'Gross78 (NETBE5) THE3I350 (201 25) MR2EEDERT
UlZ, BIRACEIYNT2OBBINE UL ZRBNTHDE. (@D PN BSA. &0 RWU XES AL
@D EN E—SA. BB BBSA. @D Bl Bzch. @0 #EUl XBEISAD7TE0E T 3OBEBSN
BAlE. WEEIEHDEE A,
LI —XTORERIHTTULED, I—RERPABETIIIBDSRDIESEEBLIZR>TNE UL,
I, RESRERRMEIBCTITERDEXRNRHFCRES 1 BICBOEADPNEEBNET,
SE. SN3EETHLINYTA DRI >EDIERE HESATI,
SAEKD, HRIGBBOEBHICETTHOFTINT ISLICWEBOIIN ] KOICBBE\NOLTINDRESE
VHBJIZECLEUE, (CNICKDEREDECS6 00 O0BDERERIEICE > TEI)
Ko T BHEDIONSEEERECERDESICUE UL,
EE. BFBXID 1 OBICEREFNEELT1 OO0 OHDHNZNCIEE., SIHTHINT DKL DTS REFIEHE
NEDLDICEDFE U
BRAF/\D OB « OGRIILIBERDOSEDFEIL
$640 HNWEFS58158 K ZWE BENYHU-D3T DHRKI—X,
(BEMCCIDEELF L)
650 wHF6F11868 O FTERELDBICTHETECTY,
RENSIE. BUVEBHZETF20 (58, 118 OREEVNZLET.

556 3ODMEIRRIE NECONBTI,

g 8| & B & “ L.

GG ouT IN JOZ | \oF+ | Ryt
2 B DOEE R— 39 39 78 130 65.0
2 | IR & | 46 46 92 270 65.0
3 fu FRAR EI 43 48 91 250 66.0
4 [ | BE AE | 44 43 87 180 690
5 fu wis {EX 42 49 91 210 700
6 f1 | X il | 46 43 89 170 720
7 fu SH OEX 44 51 95 230 720
8 fir | B E— 51 46 o7 250 720
9 fu aR 25 45 50 95 220 730
10 fi | =& @D | 47 50 o7 230 740
B G | & - 39 39 78 130 650

£630Ea5s BEONER—3A (6) CTBIIRE

Confidential



KRNI ABHEOB-0GE %$63[HE IJILI7SUNTZH4EAM KEARINIIZTHI—R 2023.11.8
FoE x &
1. INADE # st 1. IRADOE % st
He Rus 7,874
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